__

EX3SHRHE HYDRAULICS

http://www.omax-hyd.com.tw/

Som W L

hmEERE Z

Hydraulic drive Motor

E-MHRESZE

Single & three phase induction motor




MBRIEREATUSIE

HSL | P13

MBERRIT TUGIE

HSL-L

MBI USE(IRE)

Hydraulic drive motor horizontal type

BSW P5

IRERNBEATCSE
Low voltage horizontal motor

HTW P11

B EEREA TS E

Hydraulic motor vertical type

BSL P12

RER R EE
Low voltage vertical motor

HTL P11

BRI T SE ()

Hydraulic motor vertical type
(long front cover typey

HUM - P12

MBRHREAR L ARETE LGE

Hydraulic drive motor horizontal

HTL P11

BRI TUEE

Hydraulic drive motor
steel horizontal type
HDT

JLHATUEE
Submersible motor

HSWG P9

MEPATNRE RS E

Hydraulic motor long coupling
horizontal type

Hydraulic drive motor
steel vertical type

HDT

P14

TUHRGE

Hydraulic drive motor
steel vertical type

HAW P10

B EREREATURGE

Submerge oil motor

P10

Hydraulic horizontal motor
aluminum housing

ROM P14

BB HRIERGE RSB EAGE
i i Reverse osmosis pum
Hydraulic motor long coupling qE oS moss pump

vertical type

P1




im &= &\ & Full Load Current Chart unit:Amp
3 PHASE - 50Hz
HP Pole Kw RPM kg 200V | 208V | 220V | 230V | 240V | 346V | 380V | 400V | 415V | 440V | 460V | 480V | 575V | 660V
1/4 0.18 1420 1.87 1.80 1.7 1.63 1.56 1.08 0.98 0.94 0.9 0.85 0.81 0.78 0.65 0.57
12 0.37 1420 13 2.20 2.12 2.0 1.91 1.83 1.27 1.16 1.1 1.06 1.00 0.96 0.92 0.77 0.67
1 0.75 1420 16 4.0 3.8 3.6 34 33 2.3 2.1 2.0 1.9 1.8 1.7 1.65 1.4 1.2
2 1.5 1420 22 6.9 6.7 6.3 6.0 5.8 4.0 3.6 3.5 33 3.2 3.0 2.9 24 2.1
3 2.2 1430 30 10.2 9.8 9.3 8.9 8.5 5.9 54 5.1 49 4.7 4.4 4.3 3.6 3.1
S 3.7 1430 38 15.8 15.2 144 13.8 13.2 9.2 8.3 79 7.6 7.2 6.9 6.6 5.5 4.8
7.5 4P 5.5 1440 65 24.0 23.1 21.8 20.9 20.0 13.9 12.6 12.0 11.6 10.9 10.4 10.0 8.3 7.3
10 7.5 1440 73 32.8 31.5 29.8 28.5 273 18.9 17.3 16.4 15.8 14.9 14.3 13.7 114 9.9
15 11 1440 120 46.6 44.8 42.4 40.6 38.9 27.0 24.5 233 22.5 21.2 20.3 19.4 16.2 14.1
20 15 1440 150 63.8 61.3 58.0 55.5 532 36.9 33.6 31.9 30.7 29.0 21.7 26.6 22.2 19.3
25 18.5 1440 180 78.1 75.1 71.0 67.9 65.1 45.1 41.1 39.1 37.6 35.5 34.0 32.5 272 23.7
30 22 1440 220 91.3 87.8 83.0 79.4 76.1 52.8 48.1 45.7 44.0 41.5 39.7 38.0 31.8 21.7
40 30 1440 240 123.2 118.5 112.0 107.1 102.7 71.2 64.8 61.6 59.4 56.0 53.6 51.3 429 37.3
1/4 0.18 940 13 1.98 1.90 1.80 1.72 1.65 1.14 1.04 0.99 0.95 0.90 0.86 0.83 0.69 0.60
12 0.37 940 16 3.19 3.07 2.90 2.77 2.66 1.84 1.68 1.60 1.54 1.45 1.39 1.33 1.11 0.97
1 0.75 940 22 5.1 49 4.6 4.4 42 2.9 2.7 2.5 2.4 2.3 2.2 2.1 1.8 1.5
2 1.5 940 30 8.5 8.1 7.7 74 7.1 4.9 1.5 4.2 4.1 39 3.7 3.5 2.9 2.6
3 2.2 940 38 11.6 11.1 10.5 10.0 9.6 6.7 6.1 5.8 5.6 5.3 5.0 4.8 4.0 3.5
S 6P 3.7 940 65 18.7 18.0 17.0 16.3 15.6 10.8 9.8 9.4 9.0 8.5 8.1 7.8 6.5 5.7
7.5 5.5 940 73 21.5 2064 25.0 239 22.9 15.9 14.5 13.8 13.3 12.5 12.0 11.5 9.6 8.3
10 7.5 940 120 36.3 34.9 33.0 31.6 30.3 21.0 19.1 18.2 17.5 16.5 15.8 15.1 12.6 11.0
15 11 940 150 51.7 49.7 47.0 45.0 43.1 29.9 27.2 25.9 24.9 23.5 22.5 21.5 18.0 15.7
20 15 940 180 73.7 70.9 67.0 64.1 61.4 42.6 38.8 36.9 35.5 33.5 32.0 30.7 25.6 22.3
25 18.5 950 220 82.5 79.3 75.0 1.7 68.8 47.7 434 413 39.8 37.5 35.9 344 28.7 25.0
30 22 950 240 104.5 | 100.5 95.0 90.9 87.1 60.4 55.0 52.3 50.4 47.5 454 435 36.3 31.7
3 PHASE - 60Hz
HP Pole kW RPM ke 200V | 208V | 220V | 230V | 240V | 346V | 380V | 400V | 415V | 440V | 460V | 480V | 575V | 660V
14 018 | 1720 154 | 148 | 140 | 134 | 128 | 080 | 081 | 077 | 074 | 070 | 067 | 064 | 054 | 047
12 0.37 1720 13 1.87 1.80 1.70 1.63 1.56 1.08 0.98 0.94 0.90 0.85 0.81 0.78 0.65 0.57
1 0.75 1720 16 39 3.7 3.5 33 3.2 2.2 2.0 1.93 1.86 1.8 1.7 1.6 1.3 1.2
2 1.5 1720 22 6.3 6.0 5.7 5.5 5.2 3.6 3.3 3.1 3.0 2.9 2.7 2.6 2.2 1.9
3 2.2 1720 30 9.6 9.2 8.7 8.3 8.0 5.5 5.0 4.8 4.6 4.4 4.2 4.0 33 2.9
5 3.7 1740 38 15.3 14.7 13.9 13.3 12.7 8.8 8.0 7.6 7.4 7.0 6.6 6.4 5.3 4.6
7.5 4P 5.5 1740 65 222 214 20.2 19.3 18.5 12.8 11.7 11.1 10.7 10.1 9.7 9.3 7.7 6.7
10 7.5 1740 73 30.1 29.0 274 26.2 25.1 17.4 159 15.1 14.5 13.7 13.1 12.6 10.5 9.1
15 11 1740 120 44.0 4923 40.0 38.3 36.7 254 232 22.0 21.2 20.0 19.1 183 15.3 133
20 15 1740 150 58.3 56.1 53.0 50.7 48.6 33.7 30.7 29.2 28.1 26.5 253 24.3 20.3 17.7
25 18.5 1740 180 69.3 66.6 63.0 60.3 57.8 40.1 36.5 34.7 334 31.5 30.1 28.9 24.1 21.0
30 22 1740 220 80.3 712 73.0 69.8 66.9 46.4 423 40.2 38.7 36.5 349 33.5 279 24.3
40 30 1740 240 106.7 | 102.6 97.0 92.8 88.9 61.7 56.2 534 514 48.5 46.4 44.5 37.1 323
1/4 0.18 1140 13 1.21 1.16 1.10 1.05 1.01 0.70 0.64 0.61 0.58 0.55 0.53 0.50 0.42 0.37
12 0.37 1140 16 242 2.33 2.20 2.10 2.02 1.40 1.27 1.21 1.17 1.10 1.05 1.01 0.84 0.73
1 0.75 1140 22 4.2 4.0 3.8 3.6 3.5 24 22 2.1 2.0 1.9 1.8 1.7 1.5 1.3
2 1.5 1140 30 7.7 74 7.0 6.7 6.4 4.5 4.1 39 3.7 3.5 33 3.2 2.7 2.3
3 2.2 1140 38 11.0 10.6 10.0 9.6 9.2 6.4 5.8 5.5 53 5.0 4.8 4.6 3.8 33
S 3.7 1160 65 16.5 159 15.0 14.3 13.8 9.5 8.7 8.3 8.0 7.5 7.2 6.9 5.7 5.0
7.5 6P 5.5 1160 73 27.0 259 24.5 234 22.5 15.6 14.2 13.5 13.0 12.3 11.7 11.2 9.4 8.2
10 7.5 1160 120 31.9 30.7 29.0 21.7 26.6 18.4 16.8 16.0 154 14.5 139 133 11.1 9.7
15 11 1170 150 49.1 47.2 14.6 42.7 40.9 28.4 25.8 24.5 23.6 223 21.3 20.4 17.1 14.9
20 15 1170 180 66.0 63.5 60.0 57.4 55.0 38.2 34.7 33.0 31.8 30.0 28.7 271.5 23.0 20.0
25 18.5 1170 220 80.3 712 73.0 69.8 66.9 46.4 423 40.2 38.7 36.5 349 33.5 279 24.3
30 22 1170 240 106.7 | 102.6 97.0 92.8 88.9 61.7 56.2 53.4 51.4 48.5 46.4 44.5 37.1 32.3

P2




OMADX % TV il i 4 X E 9 - Motor spec for various type of pumps

oe| 8P| = [ 174 ] 172 2| 3|5 |[712]10] 15| 20 | 30

1
ype
4P |1/4]12| 1 | 2 | 3| 5 [712|10 15|20 |30 |40 |40 |1a|12] 1 |2 | 3] 5
Induction | Tiw [Lw [tw [w |ww [tw | w[w [w [w [ew [ww]w [w [tw [ tw [tw [ w
NOP W I ' LW
PA | [LW[LW LW [LW | LW LW LW ]|LW | LW LW [ Lw [ LW | w
20L LW LW | LW | LW | LW LW | LW | LW
TFP [Lw [ Lw [ tw [ Lw | Lw [ Lw } \
1A LW [ LW | LW [ LW | LW | Lw f LW [ Lw | Lw
TOP ww w|w]| | wlw w
£ Lw [Lw [ Lw [Lw [ tw [ Lw [ Lw [ Lw j Lw [Lw [ tw [Lw | w
DS W LW [ Lw LW [ LW [ Lw [ Lw [ Lw \ LW [LW [ Lw [ Lw | w
1P LW [ LW [ LW | LW [ LW | LW | LW 1 _ LW | LW | Lw | w
FAlL | (ww|w|w ww[w[w[iw|w | w]|w _ LW [ Lw [ Lw | w
30L W W [LW[LW LW LW[LW LW[LW| W |[w|w LW [ LW | LW [Lw | w
PB [ | LW [ W [ W LW [Lw [LW (LW W[ W [ W[ W LW [ LW [Lw [ W |
50T W LW LW | LW [ Lw |tw [ w tw | w [ w [ w W LW | LW | Lw | w
PV2R2 ] LW LW [ Lw [ tw [ tw [tw | w | w | w| | Lw | w
T6C LW Lw [ tw iw|w w|w [ w/|[w LW | w
vwoe | | Lw [ Lw [ tw [ tw [tw [tw | w [ w | w \
T6B wtw twww|w|w [w[w LW | w
150T | LW LW Lw w [tw | w [ w [ w |
T6D _ ww | wtw|w | w | w
va4s || wiw|w wlw |
Remarks:
1. 1/4HP~40HP
2. L=Vertical type W=Horizontal type
3. Pole:2P/4P/6P/8P
4. Phase:3-phase/Single-phase
E’
o g
| Jf@@)\"
A\
o ? Q]
| (€]e)
3 | —

P3



OMAX 4 E R H % | Technical date

ile Dimensi Key Dimension
pump type %%raeerlarl‘gr%@gr Axile ngggnsmn - ey De SIO - |IP Spgn Installl-|screw
NOP AM5,5A,NOP, TOP ®5x9 11 30 45 M6x1.0
oL | VPFBM2M5I2024 VA1 | ©12.7x3.175 142 19 = 3 | 08255 106 | M10x1.5
VCM-SF-12/20 | ©12.7x3.175 143 | 19.05 = 365  ®8255 106 M10x1.5
TFP TFP o12x3 | 136 | 25 | 40 | 030 56x73 | M6x1.0
1A HGP-4B ©12x4 14 16 288 | ©30 064x64 M6x1.0
TOP O 14x4 16 40 45 047 68 M8x1.25
VPD-F8/12/15/20 | ©15.875x4 = 17.7 19 36 ©82.55 106 M10x1.5
548 IG2F ©15.875x4 17.73 34 59 ©82.55 106.4 M10x1.5
| GE4-26 015.875x4 | 17.72 34 | 315 | ©8255 | 10535 | M10x1.5
(2B)3A,HP2 ©15.875x4 | 17.6 18 318 08255 1064 | M10x1.5
DS DS,FB1 O 16%5 18.2 185 28 70 98 M8x1.25
1P 1P ®17.46x5 @ 19.6 40 50 8255 106.4 M10x1.5
GSP2 ®18x6 20.5 45 55 ®80 | 715x100T | M8x1.25
BCP IG2E ®18x6 20.5 30 41 ©82.55 106.4 M10x1.5
DEG4-26 ®18x6 20.5 28 50 ©82.55 106.36 M10x1.5
GP2-85 | ©19.05x4.76 | 21.4 40 | 50 | ©70 |g531sfgL| M8x1.25
VCM-1M,PV2R1| ©19.05x4.76  21.24 25 445 = 08255 106 M10x1.5
P16 vQ15 ©19.05x4.76  21.24 27 535 = 08255 106 M10x1.5
A16,A22,FA1 | ©19.05x4.76 21.25 22 46 0826 106.3 M10x1.5
VCM-SF-30/40VP-F25/30140 ©19.05x4.76  21.4 22 37 ®©95.02 | 090x90 | M10x1.5
30L VD2 ©19.05x4.76 21.4 22 37 ®©95.02 | 090x90 | M10x1.5
50T(®19) ©19.05x4.76 21.4 25 50 95 090x90 | M10x1.5
PB D 20x5 225 32 40 8255 106 M10x1.5
P IG3E ©206 | 205 | 30 41 01016 | 146 | Mi2x1.75
50T VCM-50T ®22x5 24 28 50 ©96 090x90 M10x1.5
50T D 22x5 24 28 55 96 090x90 | M10x1.5
T6C A37,PV2R2 022.2x6.35  25.08 35 585 | ®101.6 146 M12x1.75
T6C V23,V38 022.23x6.35 25.08 35 585 | ®101.6 146 M12x1.75
VQ25 022.23x6.35  25.01 32 60.5 = ®101.6 146 M12x1.75
VDC 45A 025.4x4.76 | 27.6 38 78 0135 0124 M12x1.75
PV2R2 025.4x6.35  28.18 32 89 0101.6 146 M12x1.75
PV2R2 PV2R2VCM-12M  ©25.4x6.35 28.18 40 67 101.6 146 M12x1.75
VCM-2M 025.4x6.35  28.18 32 59 0101.6 146 M12x1.75
150T 150TPL3L ®30x7 33 32 50.5 160 187 M12x1.75
150773, ®30x7 33 315 | 505 160 187 M12x1.75
IG5F 031.75x7.94 35.33 50 85 0127 181 M16x2.0
76D VCMSMPVIRIVCIHSMZM ©31.75x7.94) 35.32 40 75 0127 181 M16x2.0
VQ35 031.75x7.94  35.32 46 75 0127 181 M16x2.0
V50/V70 031.75x7.94  35.35 38 57 0127 181 M16x2.0
VQ425 038.1x9.525  42.36 50 85.7 0127 181 M16x2.0
va4s VQ45 038.1x9.525  42.36 50 83 0127 181 M16x2.0
v SVQ45 038.1x9.525 42.36 50 83 01524 02286x2286 M20x2.75
SVQ435 038.1x9.525 42.36 50 84 01524 02286x2286 M20x2.75
PA HGP-2A D12.5x4 14 22 38 ©50.8 | 063.5x63.5 | M8x1.25

P4




OMAX l?ﬁi”[ﬂﬁﬂﬂffﬁéﬂ.ﬁWl Low voltage horizontal motors

O |
R= .
=B

® 1 /4 —f
FIGURE1
4P 6P |Framesize| Phase = Drawings = A AA | AB | AC | AD B BB
12 | 1/4 71 3 112 | 40 | 150 | 166 | 132 | 90 | 116
1 1/2 80 3 | FIGURE1 | 125 | 37 | 158 | 178 | 138 | 100 | 132
2 1 90L 3 140 | 40 | 174 | 203 | 155 | 125 | 157
3 2 100L 3 160 | 41 | 197 | 224 | 162 | 140 | 177
5 3 112M 3 190 | 46 | 228 | 234 | 168 | 140 | 177
712| 5 1328 3 216 | 50 | 259 | 271 | 191 | 140 | 175
10 | 71/2 | 132M 3 houRey 216 | 50 | 250 | 271 | 191 | 178 | 213
15 | 10 | 160M 3 254 | 50 | 300 | 345 | 253 | 210 | 250
20 | 15 | 160L 3 254 | 50 | 300 | 345 | 253 | 254 | 300
25(30, 20 | 180MC | 3 279 | 75 | 356 | 389 | 305 | 241 | 300
40 [25/30| 180LC | 3 279 | 80 | 356 | 389 | 305 | 279 | 335
1/2 - 80 1 125 | 37 | 158 | 179 | 138 | 100 | 132
1 - 90L 1 155 | 40 | 192 | 198 | 155 | 125 | 145
2 - 90L 1 FIGURE1 = 140 | 40 | 178 | 203 | 152 | 125 | 157
3 - 112M 1 190 | 48 | 226 | 235 | 175 | 140 | 178
5 - 112M 1 190 | 47 | 224 | 235 | 175 | 140 | 201

P5



unit:mm

axile dimension

C | H/HA|HD| K | L DT E ebl Fl G GaA kg
45 71 | 105| 155 | 10 | 255| 14 40 | 25 5 11 | 16 13
50 ( 80 | 11 [ 170| 10 | 280| 19 | 40 | 30 | 6 | 165|215 15
56 9 | 11 | 190 12 | 320 24 | 50 | 40 8 20 | 27 22
63 | 100 | 13 | 250 | 12 | 363| 28 | 60 | 40 8 24 | 31 315
70 | 112 | 13 | 265 | 12 | 370| 28 60 | 40 8 24 | 31 38
89 | 132 | 14 | 310 | 12 | 438| 38 80 | 60 | 10 | 33 | 41 59.5
89 | 132 | 14 | 310 | 12 | 475| 38 80| 60 10 | 33 | M1 69
108 | 160 | 18 | 370 | 15 | 612| 42 | 110| 80 | 12 | 37 | 45 112
108 1 160 | 18 | 370 | 15 | 655| 42 | 110| 80 | 12 | 37 | 45 125
121 | 180 | 20 | 421 | 15 | 670 48 | 110| 80 | 14 | 425|515 180
121 | 180 | 20 | 421 | 15 | 715| 55 | 110 80 | 16 | 49 | 59 238
53 | 80 | 11 | 175| 10 | 290| 16 | 30 | 25 5 | 135|185 15
45 90 | 11 | 190 | 12 | 315] 22 50 | 40 7 | 18.5 | 255 24
615 | 9 | 11 | 190 | 12 | 352| 24 | 50 | 40 8 20 | 27 27.5
75 | 112 | 12 | 265 | 12 | 398| 28 60 | 40 8 24 | 31 42.5
90 | 112 | 13 | 265 | 12 | 428 | 28 60 | 40 8 24 | 31 47.5

P6




OMADX il it 22 i 2055 & HSW l Hydraulic drive motor horizontal type

=

[T

4P 6P | Frame Phase Drawings A AA AB AC AD

w

12 1/4 80 125 37 158 | 178 138

1 | W2 | 80 3 [FeWeEl 125 | 35 155 175 | 135
2 1 9L 3 140 | 40 172 196 | 145
3 2 | 100 3 160 | 41 197 219 162
5 | 3 112M 3 190 | 45 228 235 | 165
71/2| 5 | 1328 3 216 | 50 259 271 191
10 | 71/2 182M 3 oy 216 | 50 | 250 271 | 19f
15 | 10  160M 3 254 | 50 300 345 255
20 | 15 | 160L 3 254 | 50 300 @345 | 255
25 30| 20 180MC 3 279 | 75 356 389 & 305
40 | 25 30/ 180LC 3 279 | 80 356 389 & 305
12 | - | 80 | 1 1256 | 37 158 179 138
1 - | 9oL | 140 | 40 175 203 | 157
2 - | 9L 1 FewRer 140 | 40 | 178 203 | 157
3 - [ 112M 190 | 48 206 235 175
5 - 12M 190 | 47 224 235 175

P7



AD

nn

| T '
K_/ir/ B | c
FIGURE1 FIGURE2
unit:mm

B BB c H HA | HD K L kg
100 = 130 = 535 80 10 | 175 = 10 233 13
100 | 130 | 535 80 10 | 170 10 = 240 = 155
125 156 52 90 | 10 190 12 | 272 235

140 | 177 65 100 13 210 12 305 315
140 172 | 575 112 12 | 230 12 | 300 385
140 | 175 77 | 182 14 266 12 345 60
178 | 213 75 132 14 266 12 380 70
210 = 250 85 160 @ 18 | 325 15 = 480 115
254 = 300 865 160 18 325 15 525 | 140
241 | 300 @ 104 180 20 370 15 | 550 180/220
279 330 @ 104 = 180 20 370 15 = 585 | 240

100 | 132 | 6 80 | 11 | 173 10 | 267 15
125 157 60 90 | 11 | 190 = 12 | 292 24
125 | 157 | 675 90 | 11 | 190 12 | 307 28

140 = 178 80 | 112 12 | 226 | 12 | 343 | 425
140 201 95 112 13 226 12 | 373 48

P8



OMAX /i ERl 2 RV 715 12 HSWe

Hydraulic motor long coupling

horizontal type

L
E (EC| AD
(ED]|
& .
|
@ i
IJl 1 ]
kK |8 lc [ & #
EB AB
unit:mm
J: el Axile Dimension
4P | 6P FramePhase A | AA AB /AC AD B BB C | H HA HD K | L kg
D E EC ED F G  GA

1 |12 |9s| 3 |125| 35 | 155 | 175 | 135 | 100 | 130 |455| 80 | 10 | 170 | 10 | 300 | 19 | 30 | 41 | 30 | 6 |155|21.5| 14

32 1 | 90L 3 140 40 | 172 196 145 125 157 56 | 90 | 10 | 190 12 /370 24 50 45 40 8 | 20 | 27 | 25

3 | 2 |112s| 3 |190| 47 | 227 | 235 | 169 | 140 | 175 | 50 | 112 | 12 | 265 | 12 | 370 | 28 | 44 | 48 | 40 | 8 | 24 | 31 |355

5 | 3 112M 3 | 190 | 46 | 228 | 235 166 140 177 66 | 112 13 | 265 12 391 28 | 40 48 40 8 | 24 | 31 40

75| 5 |132s| 3 | 216 | 50 | 259 | 271 | 191 | 140 | 175 | 74 | 132 | 14 | 310 | 12 |455| 38 | 52 | 62 | 50 | 10 | 33 | 41 | 65
10 | 75 132M 3 | 216 50 <250 | 271 | 191 178 | 213 | 72 132 14 310 12 1490 38 52 | 62 50 @ 10 33 41 75

15 | 10 |160M| 3 | 254 | 50 | 300 | 345 | 256 | 210 | 250 | 101 | 160 | 18 | 375 | 15 | 625 | 42 | 60 | 72 | 55 | 12 | 37 | 45 | 125

20 15 160L, 3 | 254 50 | 300 345 256 254 300 101 160 | 18 375 | 15 670 42 | 60 72 55 12 | 37 @ 45 | 145
25|30 20 [18om| 3 | 279 | 80 | 355 | 389 | 290 | 241 | 207 | 131 | 180 | 20 | 417 |14.5| 728 | 48 | 70 | 90 | 50 | 14 |42.5|51.5 185,
40 25|30 180L| 3 | 279 80 | 355 389 290 279 335 131 180 | 20 | 417 145 766 55 70 @ 90 @50 @ 16 @ 49 @ 59 | 255

OMAX LG ERERE %HSWGI Assembly drawing

P9



vertical type

OMAX JE 7 2 FEERE i HSLG | Hydraulic motor long coupling

L

@

FIGURE1

FIGURE2

unit:mm

axile dimension

4P | 4P Phaselcewst AD| M | P | S | L D TEDIE 1 G lGal K9
75| 5| 3 195 (265|300| 15 [491| 38 | 72 | 10 | 33 | 41 75

FIGURE

10 (75| 3 1911265 |300| 15 [525| 38 | 72 | 10 | 33 | 41 85
15110 | 3 L GURE 250 300|350 | 19 |689| 42 | 78 | 12 | 37 | 45 | 140
20115 ] 3 250 (300 [350| 19 |733| 42 | 78 [ 12 | 37 | 45 | 165

OMAX 1 ELE 2 2 % HAW Hydraulic horizontal motor

aluminum housing

L : AC
GB GC . GA _|
) | 1 1.
e ==
Wiex
= 7 HCa )
wtc - i \ \\"% A:v |
o = kS
\ = 1l T—F§ \h—ﬁéﬁ:!
/ c ] ; |l [aal
¥L:J BR A
} AB

KW .

- unit:mm
4P 6P |Phase| A |[AA|AB|AC| B [BB| C |GA|GB|GC|( H |[HA|HD|HG| K [KW]| L kg
1 1/2 3 |140| 30 | 166|192|100|125| 15| 95| 85| 41 | 90| 8 |174|225| 10 | 15 | 194 13
2 1 3 |140| 30 | 166|192|125|150| 15| 95| 85| 71 |1 90| 8 |174|225| 10 | 15 |224 18
3 2 3 |140| 30 | 166|192|125|/150| 15| 95| 85 |101| 90 | 8 |174(225| 10 | 15 |254| 20.5

P10



OMAX i i 55 EHTW |

Hydraulic drive motor steel
horizontal type

A
AB
B

unit:mm
4P | 6P |Phase Drawngs pump |Famszz A AB AC AD B |[BB . C H HD K KW L U] kg
1/4HP|4P| 3 A | TK/NOP | 110 100 130 ®129 110 80 102 51.5 62 1265 8 20 207 5.5/ 75
1/4HP 4P| 3 | A 05A/APM00 125 112 150 ®142 128/ 90 112 30 70 141 9 25 192 72575
12HP 4P| 3 | A 1APA 125 112150 ®142 128| 90 [112/53.5 70 141 9 25 216 72.5 10
12HP 4P| 3 | B 1A/PA 125 112 150 ®128 128| 90 |112 53.5 70 134 9 25 180 3.5 95
12HP 4P| 3 | A O5MAP/100 125 112|150 ®142 128| 90 (112 30 70 141 9 25 193 72.5 10
1HP (4P| 3 A 1APA | 125 112 150 ®142 128/ 90 [112/53.5 70 141 9 25 231 8.5/ 10
1HP (4P| 3 B 1APA | 125 112 150 ®128 128 90 [112 535 70 134 9 25 19 52 | 95
1HP 4P| 3 | A 054AP/M00 125 112150 ®142 128| 90 [112/30.5 70 141 9 25| 208 7.5 10
1HP 4P| 3 | A 1A/PA 140 125156 ®156 133| 75| 94 64.5 77 155 © 25 239 99.5 10
2HP 4P| 3 | A 1A/PA | 160 140 180 ®177 143/100|130 69.5 89| 178 10 25 277.5 108] 17
1/2HP|4P| 1 A | 1A/PA | 140 125/156 ®156 131| 75 | 94 84.5 77155 O 25 242 102 1"
1HP 4P| 1 | A 1A/PA | 160 140 180 ®177 149/100/130 60.5 89 178 10 25 277.5 108 19
2HP 4P| 1 A 1APA 160 140 180 ®177 149/100|130 79.5 89 178 10 25 297.5 118 23

OMAX & 17 A% & HT.

Hydraulic drive motor steel
vertical type

A B
unit:mm
HP |Poles | Phase [Drawings pump Famesize | AC |AD | L |LA| M N P s T | kg
1HP | 4P 3 A 1A/PA 125 142 | 123 220 12 | ®150| — 165 ®B.5 A= 10
1HP | 4P 3 B 1A/PATFP/HP1 125 129 | 123 184 i2 |®150| — 165 DB.5 == 95
2HP | 4P 3 B 1A/PA 160 164 | 139 245 9 (@212 180 235.5 @11 12 |165
1HP | 4P 1 A 1A/PA 160 177 | 144 270 9 |®212| 180 2355 @11 12 19
1HP | 4P 1 B 1A/PA 160 164 | 144 250 9 [®212| 180 2355 @11 12 |185
2HP | 4P 1 A 1A/PA 160 | 177 |144 | 290 | 9 |o212| 180 | 2355 | ®11 | 12 | 8
2HP | 4P 1 B 1A/PA 160 164 | 144 265 9 (@212 180 235.5 @11 12 |25

P11



OMADX A ETTH i 2 % BSL | Low voltage vertical motors

== ED

AC

1
|
LI

W P }

EEEEN
o

unit:mm

4P 6P T2M Phase AC AD L (LA M| N P ‘ S| T EX';eEgTeEng ca K9
1/2x2 | 71 | 3 |158/130 260 |11.5/130 110/160 10 3.5 14 30 (25| 5 |11 16 115
12[1/4] 71 | 3 [158]130] 275 11.5/130/110(160| 10 (35 14 (30 25| 5 | 11|16 | 123 |
1 1/2| 80 | 3 |177,135 278 11.5/165 /130|200 12 |35 19 40|30 6 155215 18 |
2 1] 90 | 3 [196/150] 338 11.5/165 130|200 12 |35 24 50 40| 8 |20 |27 | 23

3 2100 3 |220156 365 14.5/215 180248 15| 4 28 60 /40 8 ' 24|31 23
53|12 3 [228/163] 380 | 13 215/180/250| 15 5 (28 (60 40| 8 |24 31| 40 |
75 5 132 3 |268/193 420 | 16 |265/230(300 15 4 |38 80 60 | 10|33 41 58 |
1075 132 | 3 |268/193] 455 | 16 |265/230|300| 15 | 4 | 38 |80 | 60 | 10 | 33 | 41 70
15| 10 [160M, 3 |318/250 612 | 19 [300/250(350 195/ 5 |42 110/ 80 | 12 | 37 | 45 125
20 15 160L 3 318|250 656 | 19 300|250 350195 5 |42 110 80 | 12 | 37 | 45 135

/2] | 80 | 1 [177/139/ 310 11 (130 110|160| 12 [3.5| 14 [30 |30 | 5 [115/165 17
1 90 1 196152 358 | 9 165 130/200 12 35|/ 24 50 40 8 20 27 23
2| |90 | 1 [196/156]390 | 9 [165/130/200| 12 3.5 24 |50 40| 8 | 20|27 | 30
3 12 1 228 174 423 13 (215180 250 15 5 28 60 40 8 (24 31 425

OMAX il Kt 2 13 4 16 1 5 i HUm | Py dravti drive

AC
GA

HG
HD
(9]
E )
\y
o (4]

e

=
w
O

4P | 6P [2melPhasel A |AA AB AC| B |[BB| C |GA|GB|GC| H |[HA|HD/HG| K | L | kg

80 | 3 |125/ 35 |155|175|100|130|53.5/ 88 [100| 54 | 80 | 10 |168|220| 10 |240 15

9oL 140(38.5/171|196|125/152| 57 | 85 | 95 | 77 | 90 | 11 |190 241 12 280, 23

3
100L| 3 |160| 45 [197|219/140|177| 65 | 85 | 95 |92.5/100(13.5/213|262| 12 |305 ~ 32
1/2M| 3 | 190| 46 |232|235|140|169|57.5/100|110| 75 |112| 15 |230|280| 12 |300, 42

A W iN| -

P12



KD

OMAX i st it or 2045 i HSL | Hydraulic motor vertical type

unit:mm
4P 6P | @M Phase AC | AD L [ LA M | N P | S | T | kg
1 | 12| 80 | 3 | 177 | 140 | 250 | 10 | 180 | 130 | 206 | 12 | 12 | 165
1 - | 90| 1 | 196 | 155 | 282 | 10 [ 200 | 130 [ 230 | 12 [ 10| 24
2 1 90 3 | 196 | 150 | 264 | 10 | 200 | 130 | 230 | 12 | 10| 24
| 2 - | o0 1 | 196 | 160 | 325 | 10 | 200 | 130 | 230 | 12 | 10| 30
3 > | 112 | 3 | 228 | 166 | 200 | 12 | 225 | 180 | 250 | 125 14 | 32
3 - | 112 | 1 | 228 | 175 | 332 | 14 | 225 | 180 | 255 | 12.5| 14 | 425
5 - | 112 | 3 | 228 | 166 | 287 | 12 | 225 180 | 255 125 14 | 37
75 5 132 3 | 268 195 348 | 14 | 265 230 | 300 | 15 @5 | 61
10 | 75 | 132 | 3 | 268 | 195 380 14 | 265 | 230 | 300 | 15 | 5 | 71

OMAX SR 7 A5 & ETHSLL| (g font covertypey. T+

iﬂ
/ v}
° — JH
Ac| - — If"___‘ n A
| e (e |
| B
, : ur
unit:mm
4P | 6P | @M phase) AC| AD | L | LA | M N P S | T kg
1/2 1/4 71 3 158 130 | 250 11 130 110 160 11 - 12.5
15 | 10 | 160 | 3 | 318 | 255 | 508 | 18 | 300 | 250 | 350 | 19 | 6 | 106
20 | 15 | 160 | 3 | 318 | 252 | 553 | 18 | 300 | 250 | 350 | 19 | 6 | 130

P13



OMAX iﬁ%%ﬁ/ﬁﬁ%kd/ﬂ Reverse osmosis pump drive motor

L AD |
|Ac
E_ED \
T 1
\ -
s : 7o) (N a
| = NP/ IRND
= T o L) D
==
‘ B :C ! A |

unit:mm

axile dimension
4P Phasey A |AB|AC|AD| B |[BB| C | H |HD| L kg
D| E |ED F | G GA

121 1 |1121150/142/130| 90 ' 112|49.5 70 | 150|282 10

1 11 /140180177 150 100/ 130|69.5| 89 |178|347| 19 | 23 41| 6 [15.521.5 19

OMAX 7/ 5% EHDT | Submerge oil motor

AC

Qé% a HC c@@c
. o/ Pl 2
= = N
FIGUREA1 FIGURE2
unit:mm
4P | 6P |Phasebrawingg A | AB | AC | B | BB| C | H | HD | K | KW | L kg
1 3 |meure1l 140 | 180 | 164 | 100 | 130 |42.5| 89 | 171 10 | 25 (219 15
2 1 3 |meure1l 140 | 180 | 164 | 100 | 130 |42.5| 89 | 171 10 | 25 219 18
3 2 | 3 |meure1] 190 | 226 | 185 | 140 | 168 132.5/ 108 | 201 | 12 | 25 [205| 20
5 3 | 3 |meurer] 100 | 226 | 185 | 140 | 168 |32.5 108 | 201 | 12 | 25 | 205| 22
7.5 5 | 3 |meurerl 190 | 226 | 185 | 140 | 168 |52.5| 108 | 201 | 12 | 25 (245 27
10 | 7.5 | 3 |rourer] 190 | 226 | 185 | 140 | 168 |62.5/ 108 | 201 | 12 | 25 265 33
15 | 10 | 3 |rcurez) 195 | 230 | 285 | 190 | 245 | 60 | 160 | 302 | 15 313| 62.5
20 3 |reure2l 195 | 230 | 285 | 190 | 245 | 60 | 160 | 302 | 15 313| 67.5

P14



OMAX F5EHIEL

o Test condifion:220V/60Hz/4P/3¢
o Size meets CNS 3071/C1036
© Characteristic meets IEC34-1/EN60034/CNS2934

Technical Data

Output Speed Full Load Characteristic Start Characteristic| Largest
Frame In%li!\astion Torgue
: size B5% wE | DERY | E; BBt % | & kg/cm
HP | Kw |rpm/min Kg-cm % % ;En;;; Torque0 ?n{s :
1 0.75 1720 80 E 42 81.3 71.5 34 2.2 15.5 139
2 1.5 1720 90L E 84 83.0 79.0 6.1 2.2 31.5 245
3 2.2 1720 100L E 126 85.5 78.5 8.7 2.0 50.5 334
5 3.7 1740 112M E 210 85.5 81.5 13.5 1.8 82.0 540
712 55 1740 132S B 315 86.5 81.5 20.1 1.9 125 810
10 7.5 1740 132M B 420 87.0 80.5 25.1 2.0 189 1037
15 11 1740 160M B 630 86.0 82.5 36.7 1.6 289 1562
20 15 1740 160L B 840 88.5 80.0 50.3 1.7 351 1975
25 18.5 1740 180M B 1050 89.0 83.5 63 2.0 430 2369
30 22 1740 180M B 1260 89.0 85.5 73 1.7 539 2825
40 30 1740 180L F 1680 92 88.0 97 1.5 612 3779
OMAX F/EHM% | Parts List
158 E i =[S E i =S EEiE
Part NO Description Part NO Description Part NO Description
No.1 | RIfE% Bracket-L No.11 [RE Fan cover No.21 | 7RAERHk Socket head screws
No.2 | #E2  Frame No.12 H#®R  Outlinerind | N0.22 | 4@ Screwwasher
No.3 | #%IE% Bracket-F No.13 | BRETE outineboxlowercover | N0.23 | 73A8REH Socket head screws
No.4 | RU#A Bearing-L No.14 | Ei5R#R Bushinghead | No.24 +3i8#4 Crossseren
No.5 | )8  Shaft No.15 | #4248  Patchboard | No.25 | $kk Screws
No.6 | ®F Rotor No.16 | EGIREZ Paichboardcover | No.26 9288 Screw nut
No.7 | ®F Stator No.17 | HE&521 Oulnebosideatde | No.27 | 8844 Screws
No.8 | ##% Bearing-F No.18 | EREEZ outine box upper cover
No.9 | BE Pre-loadspring| No.19 | RIE Flying rings
No.10 | B Fan No.20 | /& Name plate

P15




OMAX 5% (4 M | Assembly drawing

P16



OMAX 17 E % & B EFE |

Country Ha | Voltage Country Hz | Voltage

single phase| 3-phase single phase| 3-phase

b & ¥ |Afghanistan |50 | 220 220/380 || 7 fE|Indonesia | 90| 127/200 | 220/380
PR RATE | Algeria 50 | 127/220 | 220/380 || B 5A | Iran 50| 110/220 | 220/380
fJ 4% & |Argentna |50 | 220 220/380 || B fI 2lraq 50| 220 220/380
B M |Australia |50 240 240/415 2 B & lIreland 50 220 220/380
& | Austria 50| 220 220/380 || LA & Bl lsrael 50| 230 230/400
P E |Bahamas |60 120 120208 || & K #|italy 50 | 127/220 | 220/380
tb B |Belgum |50 | 127/220 | 220/380 B A | Japan 50/60, 100/200 200
B @& |Bui 50| T0220 | 0ias0 %3 B Joden |50] 220 220/380
60| 127 i 8 | Korea 60| 100/200 200

@ @ |Buma 50 230 230/440 || ® B 15| Kuwait 60| 100/200 200
& 18 |Cambodia |50 | 120 220/380 || 2 @ &|Mexico 60| 127/220 | 220/380
M E K |[Caada |60| 1102220 | 220/440 || & B8 | Netherlands | 50 | 110/220 | 220/230
& F |Chile 50| 220 220/380 || # @5 B|NewZealand 50| 230 230/400
PEIAE |China 50| 220 220/380 || FEADAIM | Nicaragua | 60| 120/240 240
G | Colombia |g0| 1107220 | 220/380 || B Noway |50| 230 230
IMETAEN0 | CostaRica |60 | 120/240 240 EEHIB |Pakistan | 50 230 2207380
o B [Cuba 60| 115120 240 B = E|paama |60 [110/220/120 220/240
B % |Cuchosovakia| 50 | 120220 | 220/380 || & | Peru 60| 110/220 220
B % |Denmak |50| 220 220/380 || 3 #& B Phiippines |60 | 110/220 | 220/440
Z88/21 | Dominican | o | 110/220 220 & & F|Pougal |50 |110/190/220 220/380
% R |Egypt 50| 220 220/380 || )&=t~ | Saudi- |50 220/380

N 127/220

% B |Fnland |g5o9| 220 220/380 || fgHIf | Arabia 60 230/400
% France | gq|115/2201127| 220/380 || & 48 #|Scotland |50 | 240 240/415
& B |Gemany |gg| 110220 | 220/380 || % #0 3% Singapore |50 | 115/230 | 230/400
% K |Geece |g5g| 220 220/380 || REIEALROE)| Souh AficaRep| 5O | 220/380 | 2597350
BHE |Greenand |59| 220 220/380 || #@ PE F| Spain 50| 127/220 | 220/380
[HEAL | Guatemala | gg | 120/127/220| 220/240 || 3 1| Switzerland | 50| 220 220/380
FHHRIET | Honduras | 5o | 1107220 220 R Thaland |50 | 110/220 | 220/380
£ & |Hongkong | gg |110/2002230] 200346 || + F E|Tukey |50 [127/230/2200 220/380
0 F R |Hingay |go| 220 | 2201380 || % USA.  |60| 110/220 | 220/440
K B l|leland |gg| 220 220/380 || United Kingdom| 50 |~ 2740 240/415
0 B |hnda 50| 230 | 230500 || #  F|Viet-Nam |50| 127/220 | 220/380

P17




OMAX &R Z % ] |W|r|ng drawings

=187 \fl%‘ﬁi three phase six wwei — Y
(6)(a)(5) (6M(4X5) () (U () o2
OIOROIENE) OIOIOROIDID
T O e R R e

=ME#E three phase nine wires =148 three phase 2P/4P

® 0 ONOI0lO

I WHH| aoe eee
HOW @O | P00 VOO
L!DW V(ILT 1&15—5 HItGH V(t)LT ‘.%t@ 2P 4P

=#8121&#X three phase twelve wires

oI © Ol

~QIEE)
~EEXE)
-G
-G
660
660
-GOEE
-EEEE
0666,
-CEEE
-CRBE
-OERE

RUN(22) START(2Y) RUN(2) START(Y)
\_ LOW VOLT {E /& VAN HIGH VOLT & & )
ESMEPTMRES SRR

single phase four wires single phase six wires

QIOBIOIIOIOIRIOIONODICINION

1 LOW VOL LOW VOL
LOW VOL (-9 K ER
1R

HHHHHHHH

P18






